Answers:

1. a)85
b) 39
c) 623
d) 21 remainder 1 OR 21.33333... OR 21 %.

N

19 oranges

w

.16:04

N

£7 .13
5. 306 cm?

6. 81 cm?

8. 8and9 , 12and6 , 4and18 , 3 and 24, 2 and 36
9. 12 teams
10. 2160 hours
11. 156
12.1,H, X
13.12.5%
14.12

15. 300 grams
16. 30 mm
17.1.9836

18. 16 sweets

19. 70 pence

Copyright of Owl Tutors Limited | Unit 2a, The Plough Brewery, London, SW8 3JX |
+44 020 3457 8474 | enguiries@owltutors.co.uk | owltutors.co.uk



mailto:enquiries@owltutors.co.uk
https://owltutors.co.uk/

20. 2.75 kg

21.a)52.5cm
b) 47.5 cm

22. 41
23.60°

24. 5
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